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REAL NUMBERS

Exercise

1. Can we represent all rational numbers

pictorially ?

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ltS5mQiT7Iwl


2. Represent  and  on the number line.

Watch Video Solution

5

3
−

5

3

3. Represent  on the number line.

Watch Video Solution

−3

4

4. Right  in  form.

Watch Video Solution

0, 7, 10, − 4
p

q

https://dl.doubtnut.com/l/_ltS5mQiT7Iwl
https://dl.doubtnut.com/l/_9MMJD72wXn9y
https://dl.doubtnut.com/l/_yCF5agYhFfvi
https://dl.doubtnut.com/l/_n2yhG477snaC


5. Guess my number: Your friend chooses An

Integer between 0 and 100. You have to find

out that number by asking questions, but your

friend can only answer ‘Yes’ or ‘No’. What

strategy Would you use?

Watch Video Solution

6. Are the following statements True ? Give

reasons for your answers with an example :

https://dl.doubtnut.com/l/_n2yhG477snaC
https://dl.doubtnut.com/l/_25R2WPLgzfiy
https://dl.doubtnut.com/l/_eqlYmrCrfYpc


Every rational number an integer.

Watch Video Solution

7. Are the following statements True ? Give

reasons for your answers with an example:

Every integer is a rational number.

Watch Video Solution

8. Are the following statements True ? Give

reasons for your answers with an example:

https://dl.doubtnut.com/l/_eqlYmrCrfYpc
https://dl.doubtnut.com/l/_5eSsKHF3rxaH
https://dl.doubtnut.com/l/_P0nFCpkR8DFP


Zero is a rational number.

Watch Video Solution

9. Find two rational numbers between 3 and 4

by mean method.

Watch Video Solution

10. Find any five rational numbers between 2

and 3 using mean method.

Watch Video Solution

https://dl.doubtnut.com/l/_P0nFCpkR8DFP
https://dl.doubtnut.com/l/_cxSGPyRDsb9J
https://dl.doubtnut.com/l/_8kaRT5P9uO5R


11. Find any 10 rational numbers between 

and .

Watch Video Solution

−3

11
8

11

12. Express  in decimal from.

Watch Video Solution

, and
7
16

10

7

2

3

13. Express  in decimal form.
1

17

https://dl.doubtnut.com/l/_8kaRT5P9uO5R
https://dl.doubtnut.com/l/_uG0H4R5RtqFg
https://dl.doubtnut.com/l/_T1bVnl5n52vK
https://dl.doubtnut.com/l/_5vr6wo0ZEmnr


Watch Video Solution

14. Express  in decimal form.

Watch Video Solution

1

19

15. Express 3.28 in the form of  (where p and

q are intgers, ).

Watch Video Solution

p

q

q ≠ 0

https://dl.doubtnut.com/l/_5vr6wo0ZEmnr
https://dl.doubtnut.com/l/_shpXrN2UqOBZ
https://dl.doubtnut.com/l/_PB1m1Mxi1Mas


16. Express  in  from where 

are integers.

Watch Video Solution

1. ¯̄̄¯62
p

q
q ≠ 0, p, q

17. Find the decimal values of the following: 

Watch Video Solution

1

2

https://dl.doubtnut.com/l/_PMpmTsLpVSfg
https://dl.doubtnut.com/l/_OsrnI8ipWDni


18. Find the decimal values of the following: 

Watch Video Solution

1

22

19. Find the decimal values of the following: 

Watch Video Solution

1

5

https://dl.doubtnut.com/l/_R7E2gx1N8tyt
https://dl.doubtnut.com/l/_kw1ZrGiVM5vW


20. Find the decimal values of the following: 

Watch Video Solution

1

5 × 2

21. Find the decimal values of the following: 

Watch Video Solution

3

10

https://dl.doubtnut.com/l/_5I9RKR2SQh0N
https://dl.doubtnut.com/l/_s9QALfT8q2tU


22. Find the decimal values of the following: 

Watch Video Solution

27
25

23. (a) Write any three rational numbers

Watch Video Solution

24. (b) Explain rational number in your own

words.

https://dl.doubtnut.com/l/_JCU0IRhX4wdl
https://dl.doubtnut.com/l/_j91B138ELfyO
https://dl.doubtnut.com/l/_AEOTWO0sRlrF


Watch Video Solution

25. Give one example each to the following

statements. 

i. A number which is rational but not an

integer

Watch Video Solution

26. Give one example each to the following

statements. 

https://dl.doubtnut.com/l/_AEOTWO0sRlrF
https://dl.doubtnut.com/l/_yQojhhfxJrJV
https://dl.doubtnut.com/l/_755jeYlQThwG


ii. A whole number which is not a natural

number

Watch Video Solution

27. Give one example each to the following

statements. 

iii. An integer which is not a whole number

Watch Video Solution

https://dl.doubtnut.com/l/_755jeYlQThwG
https://dl.doubtnut.com/l/_tD0RgYHYut2i


28. Give one example each to the following

statements. 

iv. A number which is natural number, whole

number, integer and rational number.

Watch Video Solution

29. Give one example each to the following

statements. 

v. A number which is an integer but not a

natural number.

https://dl.doubtnut.com/l/_QqxFKGwPF8qI
https://dl.doubtnut.com/l/_F8TVwSajVS5X


Watch Video Solution

30. Find five rational numbers between 1 and 2.

Watch Video Solution

31. Insert three rational numbers between

Watch Video Solution

and
3

5

2

3

https://dl.doubtnut.com/l/_F8TVwSajVS5X
https://dl.doubtnut.com/l/_2mhTgMBbGNlk
https://dl.doubtnut.com/l/_XXhaT0YvJMWR


32. Represent  and  on the number line.

Watch Video Solution

8

5
−

8

5

33. Express the following rational numbers in

decimal form. 

Watch Video Solution

242
1000

https://dl.doubtnut.com/l/_3mm6HmIHOQom
https://dl.doubtnut.com/l/_VQl8FDyrd2dw


34. Express the following rational numbers in

decimal form. 

Watch Video Solution

354
500

35. Express the following rational numbers in

decimal form. 

Watch Video Solution

2

5

https://dl.doubtnut.com/l/_6urxa7PFaw2P
https://dl.doubtnut.com/l/_o7CO3iuCJVeK
https://dl.doubtnut.com/l/_5hvKrWlQ55mR


36. Express the following rational numbers in

decimal form. 

Watch Video Solution

115

4

37. Express the following rational numbers in

decimal form. 

Watch Video Solution

2

3

https://dl.doubtnut.com/l/_5hvKrWlQ55mR
https://dl.doubtnut.com/l/_VoqrMPpYy27y
https://dl.doubtnut.com/l/_kiiA4m88sKCA


38. Express the following rational numbers in

decimal form. 

Watch Video Solution

−
25

36

39. Express the following rational numbers in

decimal form. 

Watch Video Solution

22

7

https://dl.doubtnut.com/l/_kiiA4m88sKCA
https://dl.doubtnut.com/l/_CcAXN902ArDo


40. Express the following rational numbers in

decimal form. 

Watch Video Solution

11

9

41. Express each of the following decimals in

 form where  and p, q are integers 


Watch Video Solution

p

q
q ≠ 0

0.36

https://dl.doubtnut.com/l/_YnPqnlZjapsK
https://dl.doubtnut.com/l/_bkmX8aWQ3wjk
https://dl.doubtnut.com/l/_yz0b1DiDPqxc


42. Express each of the following decimals in

 form where  and p, q are integers 


Watch Video Solution

p

q
q ≠ 0

15.4

43. Express each of the following decimals in

 form where  and p, q are integers 


Watch Video Solution

p

q
q ≠ 0

10.25

https://dl.doubtnut.com/l/_yz0b1DiDPqxc
https://dl.doubtnut.com/l/_5gx6tqK1yuxk
https://dl.doubtnut.com/l/_aHj4NFmoDd8f


44. Express each of the following decimals in

 form where  and p, q are integers 


Watch Video Solution

p

q
q ≠ 0

3.25

45. Express each of the following decimal

numbers in  form 


Watch Video Solution

p

q

0. 5̄

https://dl.doubtnut.com/l/_aHj4NFmoDd8f
https://dl.doubtnut.com/l/_pFcMuQc6F5nP


46. Express each of the following decimal

numbers in  form 


Watch Video Solution

p

q

3. 8̄

47. Express each of the following decimal

numbers in  form 


Watch Video Solution

p

q

0. ¯̄̄¯36

https://dl.doubtnut.com/l/_5AEBgrGPGife
https://dl.doubtnut.com/l/_qweQt1guzdwu
https://dl.doubtnut.com/l/_SX4u08p2Km48


48. Express each of the following decimals in

 form: 

Watch Video Solution

p

q
3.127̄

49. Without actually dividing find which of the

following are terminating decimals. 

Watch Video Solution

3

25

https://dl.doubtnut.com/l/_SX4u08p2Km48
https://dl.doubtnut.com/l/_dWS7JuZWaiB5


50. Without actually dividing find which of the

following are terminating decimals. 

Watch Video Solution

11

18

51. Without actually dividing find which of the

following are terminating decimals. 

Watch Video Solution

13

20

https://dl.doubtnut.com/l/_IBjnH4XOwxCg
https://dl.doubtnut.com/l/_p5y48mBN0vT8
https://dl.doubtnut.com/l/_W3s2wGphcczt


52. Without actually dividing find which of the

following are terminating decimals. 

Watch Video Solution

41
42

53. Kurthi said  can be written  which is

in  form. So  is a rational number. Do you

agree with her argument?

Watch Video Solution

√2
√2

1
p

q
√2

https://dl.doubtnut.com/l/_W3s2wGphcczt
https://dl.doubtnut.com/l/_v8pw317n9kbZ
https://dl.doubtnut.com/l/_cUCPgyWsSYPF


54. Find the value of  upto six decimals.

Watch Video Solution

√3

55. Locate  on number line.

Watch Video Solution

√2

56. Locate  on number line.

Watch Video Solution

√3

https://dl.doubtnut.com/l/_cUCPgyWsSYPF
https://dl.doubtnut.com/l/_XubllKhyjsW0
https://dl.doubtnut.com/l/_l3lOjDuwi9vp
https://dl.doubtnut.com/l/_XFo3cYzuBlJj


57. Locate  and  on number line. [Hint 

]

Watch Video Solution

√5 −√5

52 = 22 + 12

58. Find any two irrational numbers between

 and 

Watch Video Solution

1

5

2

7

59. Find any two irrational numbers between

 and 
1

5

2

7

https://dl.doubtnut.com/l/_XFo3cYzuBlJj
https://dl.doubtnut.com/l/_i6kC3Vr3G9Hw
https://dl.doubtnut.com/l/_ZvBhQVkL1GTl


Watch Video Solution

60. Write any two irrational numbers lying

between 3 and 4.

Watch Video Solution

61. Examine, whether the following numbers

are rational or irrational : 

Watch Video Solution

(3 + √3) + (3 − √3)

https://dl.doubtnut.com/l/_ZvBhQVkL1GTl
https://dl.doubtnut.com/l/_1oTpO1DxMnsi
https://dl.doubtnut.com/l/_5cLLBFFUtB11


62. Examine, whether the following numbers

are rational or irrational : 

Watch Video Solution

(3 + √3)(3 − √3)

63. Examine, whether the following numbers

are rational or irrational: 

Watch Video Solution

10

2√5

https://dl.doubtnut.com/l/_5cLLBFFUtB11
https://dl.doubtnut.com/l/_7goBxkelcOGx
https://dl.doubtnut.com/l/_YCsAQSQlhEiE
https://dl.doubtnut.com/l/_d7Sj9GjcUpBS


64. Examine, whether the following numbers

are rational or irrational : 

Watch Video Solution

(√2 + 2)
2

65. Classify the following numbers as rational

or irrational. 

Watch Video Solution

√27

https://dl.doubtnut.com/l/_d7Sj9GjcUpBS
https://dl.doubtnut.com/l/_wWPqRbbLevAe


66. Classify the following numbers as rational

or irrational. 

Watch Video Solution

√441

67. Classify the following numbers as rational

or irrational. 

Watch Video Solution

30.2323342345…

https://dl.doubtnut.com/l/_9IBHSJuFskC9
https://dl.doubtnut.com/l/_GiWqPFdFGWSF
https://dl.doubtnut.com/l/_zn0H6q39xj0N


68. Classify the following numbers as rational

or irrational. 

Watch Video Solution

7.484848…

69. Classify the following numbers as rational

or irrational: 11.2132435465

Watch Video Solution

https://dl.doubtnut.com/l/_zn0H6q39xj0N
https://dl.doubtnut.com/l/_DTNYtE3AjEJ1


70. Classify the following numbers as rational

or irrational. 

Watch Video Solution

0.3030030003…

71. Give four examples for rational and

irrational numbers?

Watch Video Solution

https://dl.doubtnut.com/l/_fSqG3NJYCUeS
https://dl.doubtnut.com/l/_8jK8Wq6rzWig


72. Find an irrational number between  and

 . How many more there may be ?

Watch Video Solution

5

7
7
9

73. Find two irrational numbers between 0.7

and 0.77

Watch Video Solution

74. Find the value of  upto 3 decimal places.√5

https://dl.doubtnut.com/l/_5mSA2tqd132H
https://dl.doubtnut.com/l/_E02XJFjhgPX6
https://dl.doubtnut.com/l/_JjXp5KNeFFy5


Watch Video Solution

75. Find the value of  upto six decimal

places by long division method.

Watch Video Solution

√7

76. Locate  on the number line.

Watch Video Solution

√10

https://dl.doubtnut.com/l/_JjXp5KNeFFy5
https://dl.doubtnut.com/l/_VFRoVscfYIAd
https://dl.doubtnut.com/l/_HP0F5EFincrQ


77. Find atleast two irrational numbers

between 2 and 3.

Watch Video Solution

78. State whether the following statements are

true or false. Justify your answers. 

(i) Every irrational number is a real number.

Watch Video Solution

https://dl.doubtnut.com/l/_qk4aTaXR4lE9
https://dl.doubtnut.com/l/_qh7hL3pD570g


79. State whether the following statements are

true or false. Justify your answers. 

(ii) Every rational number is a real number.

Watch Video Solution

80. State whether the following statements

are true or false. Justify your answers. 

(iii) Every real number need not be a rational

number

Watch Video Solution

https://dl.doubtnut.com/l/_h4knjxXccNMh
https://dl.doubtnut.com/l/_xFRmnjEbWi2Y


81. State whether the following statements are

true or false. Justify your answers. 

(iv) n is not irrational if n is a perfect square.

Watch Video Solution

82. State whether the following statements

are true or false. Justify your answers:  is

irrational if n is a perfect square

Watch Video Solution

√n

https://dl.doubtnut.com/l/_xFRmnjEbWi2Y
https://dl.doubtnut.com/l/_RirpHhHLUYOt
https://dl.doubtnut.com/l/_anGj9YHsMd0O


83. State whether the following statements are

true or false. Justify your answers. 

(vi) All real numbers are irrational.

Watch Video Solution

84. Visualise the representation of  on the

number line through successive magnification

upto 4 decimal places.

Watch Video Solution

3.58̄

https://dl.doubtnut.com/l/_AHEGfkaQyfVT
https://dl.doubtnut.com/l/_br6dFSOum1tQ
https://dl.doubtnut.com/l/_tcwfbfFPX6mx


85. Visualise 2.874 on the number line, using

successive magnification.

Watch Video Solution

86. Visualise  on the number line, upto 3

decimal places.

Watch Video Solution

5. ¯̄̄¯28

https://dl.doubtnut.com/l/_tcwfbfFPX6mx
https://dl.doubtnut.com/l/_RY4Ql18ydqED


87. Hasith said . Do you

agree with him?

Watch Video Solution

“5√3 + 2√7 = 7√10”

88. How can you find the value of .

Watch Video Solution

5√2 − √8

89. Check whether  is irrational numbers

or not ?

5√2

https://dl.doubtnut.com/l/_Ebn69b87lJMU
https://dl.doubtnut.com/l/_G9pjM48weCvV
https://dl.doubtnut.com/l/_4zUD37NHdtGb


Watch Video Solution

90. Check whether  is irrational numbers

or not?

Watch Video Solution

5

√2

91. Check whether  is irrational

numbers or not?

Watch Video Solution

21 + √3

https://dl.doubtnut.com/l/_4zUD37NHdtGb
https://dl.doubtnut.com/l/_936twEbgFFzS
https://dl.doubtnut.com/l/_F3r7494WR1vW
https://dl.doubtnut.com/l/_JlZ5YWdZTqO5


92. Check whether  is irrational numbers

or not?

Watch Video Solution

x + 3

93. Subtract  from 

Watch Video Solution

5√3 + 7√5 3√5 − 7√3

94. Multiply  with 

Watch Video Solution

6√3 13√3

https://dl.doubtnut.com/l/_JlZ5YWdZTqO5
https://dl.doubtnut.com/l/_YfETW40dKZRK
https://dl.doubtnut.com/l/_gmQlxjXBioZy


95. Simplify the following expressions : 

Watch Video Solution

(3 + √3)(2 + √2)

96. Simplify the following expressions : 

Watch Video Solution

(2 + √3)(2 − √3)

https://dl.doubtnut.com/l/_gmQlxjXBioZy
https://dl.doubtnut.com/l/_jihGIYoVdUOg
https://dl.doubtnut.com/l/_8BILJh8A05wA


97. Simplify the following expressions : 

Watch Video Solution

(√5 + √2)
2

98. Simplify the following expressions : 

Watch Video Solution

(√5 − √2)(√5 + √2)

99. Find the square root of 5 + 2√6

https://dl.doubtnut.com/l/_E2azRJZvl9Ff
https://dl.doubtnut.com/l/_SI6Tbo3TBwxf
https://dl.doubtnut.com/l/_gy84gPV941lW


Watch Video Solution

100. Find rationalising factors of the

denominators of 

Watch Video Solution

1

2√3

101. Find rationalising factors of the

denominators of 

Watch Video Solution

3

√5

https://dl.doubtnut.com/l/_gy84gPV941lW
https://dl.doubtnut.com/l/_eFKlZarRvRAA
https://dl.doubtnut.com/l/_o68KW6ThbyQc
https://dl.doubtnut.com/l/_lbO3xEOg9FWr


102. Find rationalising factors of the

denominators of 

Watch Video Solution

1

√8

103. Rationalise the denominator of 

Watch Video Solution

1

4 + √5

104. If  then find the value of x = 7 + 4√3

x +
1

x

https://dl.doubtnut.com/l/_lbO3xEOg9FWr
https://dl.doubtnut.com/l/_mit0ZEbmwkWP
https://dl.doubtnut.com/l/_Z12V6QOURSBW


Watch Video Solution

105. Simiplify 

Watch Video Solution

+
1

7 + 4√3

1

2 + √5

106. Simplify 

Watch Video Solution

2 .2
2
3

1
3

https://dl.doubtnut.com/l/_Z12V6QOURSBW
https://dl.doubtnut.com/l/_rEGR72DoKxKB
https://dl.doubtnut.com/l/_5XVTEBa42721


107. Simplify 

Watch Video Solution

(5 )
41

7

108.  =

Watch Video Solution

31 / 5

31 / 3

109. Simplify 

7 .11
1
17

1
17

https://dl.doubtnut.com/l/_G8PHkBXfUvDZ
https://dl.doubtnut.com/l/_F4jFlEJqoZj3
https://dl.doubtnut.com/l/_y4vzU1v8rS0Q


Watch Video Solution

110. Simplify : 

Watch Video Solution

(16)
1
2

111.  =

Watch Video Solution

(128)1 / 7

https://dl.doubtnut.com/l/_y4vzU1v8rS0Q
https://dl.doubtnut.com/l/_oFSZF48BiTzO
https://dl.doubtnut.com/l/_ZmGhm0nnsOfo


112. Simplify : 

Watch Video Solution

(343)
1
5

113. Write the following surds in exponential

form 

Watch Video Solution

√2

https://dl.doubtnut.com/l/_5XPpcOaPMENR
https://dl.doubtnut.com/l/_Cpx6AUiFRuw5


114. Write the following surds in exponential

form 

Watch Video Solution

3√9

115. Write the following surds in exponential

form 

Watch Video Solution

5√20

https://dl.doubtnut.com/l/_ybG76Kfaui5R
https://dl.doubtnut.com/l/_H7m51IlHnhXD
https://dl.doubtnut.com/l/_G23DYxiL4n0c


116. Write the following surds in exponential

form 

Watch Video Solution

17√19

117. Write the surds in radical form: 

Watch Video Solution

5
1
7

https://dl.doubtnut.com/l/_G23DYxiL4n0c
https://dl.doubtnut.com/l/_NdAIi8gkbhtD


118. Write the surds in radical form: 

Watch Video Solution

17
1
6

119. Write the surds in radical form: 

Watch Video Solution

5
2
3

https://dl.doubtnut.com/l/_Dbjy9LjgvdPf
https://dl.doubtnut.com/l/_0oZjzqEoats5


120. Write the surds in radical form: 

Watch Video Solution

142
1
2

121. Simplify the following expressions. 

Watch Video Solution

(5 + √7)(2 + √5)

https://dl.doubtnut.com/l/_uyzHGuOpi5cp
https://dl.doubtnut.com/l/_XvsuEzjvKavL


122. Simplify the following expressions. 

Watch Video Solution

(5 + √5)(5 − √5)

123. Simplify the following expressions. 

Watch Video Solution

(√3 + √7)
2

https://dl.doubtnut.com/l/_7laZweRwcI0Z
https://dl.doubtnut.com/l/_ppPTsD9Lxsi9


124. Simplify the following expressions. 

Watch Video Solution

(√11 + √7)(√11 − √7)

125. Classify the following numbers as rational

or irrational. 

Watch Video Solution

5 − √3

https://dl.doubtnut.com/l/_G5rbhutp6FyF
https://dl.doubtnut.com/l/_eJqY8QT4NU35


126. Classify the following numbers as rational

or irrational. 

Watch Video Solution

√3 + √2

127. Classify the following numbers as rational

or irrational. 

Watch Video Solution

(√2 − 2)
2

https://dl.doubtnut.com/l/_JOlmFQuO0np0
https://dl.doubtnut.com/l/_vBq5x9WNsCeC
https://dl.doubtnut.com/l/_Um79WNA3yQsx


128. Classify the following numbers as rational

or irrational. 

Watch Video Solution

2√7

7√7

129. Classify the following numbers as rational

or irrational. 

Watch Video Solution

2π

https://dl.doubtnut.com/l/_Um79WNA3yQsx
https://dl.doubtnut.com/l/_F3rovuaNrYF5
https://dl.doubtnut.com/l/_ach7CTLN3Tmp


130. Classify the following numbers as rational

or irrational. 

Watch Video Solution

1

√3

131. Classify the following numbers as rational

or irrational. 

Watch Video Solution

(2 + √2)(2 − √2)

https://dl.doubtnut.com/l/_ach7CTLN3Tmp
https://dl.doubtnut.com/l/_gBUirCb03prT


132. In the following equations, find whether

variables x, y, z etc. represent rational or

irrational numbers 

Watch Video Solution

x2 = 7

133. In the following equations, find whether

variables x, y, z etc. represent rational or

irrational numbers 

y2 = 16

https://dl.doubtnut.com/l/_sIpx4AxDQHLU
https://dl.doubtnut.com/l/_FgO0PemcxqDA


Watch Video Solution

134. In the following equations, find whether

variables x, y, z etc. represent rational or

irrational numbers 

Watch Video Solution

z2 = 0.02

135. In the following equations, find whether

variables x, y, z etc. represent rational or

https://dl.doubtnut.com/l/_FgO0PemcxqDA
https://dl.doubtnut.com/l/_v0r7TwEZ9pdo
https://dl.doubtnut.com/l/_jrcL7Uf5MP6E


irrational numbers 

Watch Video Solution

u2 =
17
4

136. In the following equations, find whether

variables x, y, z etc. represent rational or

irrational numbers 

Watch Video Solution

w2 = 27

https://dl.doubtnut.com/l/_jrcL7Uf5MP6E
https://dl.doubtnut.com/l/_wG1isaCYpHpH


137. In the following equations, find whether

variables x, y, z etc. represent rational or

irrational numbers 

Watch Video Solution

t4 = 256

138. Every surd is an irrational, but every

irrational need not be a surd. Justify your

answer.

Watch Video Solution

https://dl.doubtnut.com/l/_C9aUiqpWopH0
https://dl.doubtnut.com/l/_RyzGYR0C3TXu


139. Rationalise the denominators of the

following: 

Watch Video Solution

1

3 + √2

140. Rationalise the denominators of the

following: 

Watch Video Solution

1

√7 − √6

https://dl.doubtnut.com/l/_RyzGYR0C3TXu
https://dl.doubtnut.com/l/_eDUGCgOZAqPo
https://dl.doubtnut.com/l/_JZNqur3p9FzH
https://dl.doubtnut.com/l/_K25u1otOYEYc


141. Rationalise the denominators of the

following: 

Watch Video Solution

1

√7

142. Rationalise the denominators of the

following: 

Watch Video Solution

√6

√3 − √2

https://dl.doubtnut.com/l/_K25u1otOYEYc
https://dl.doubtnut.com/l/_QoFnLd63eSjy
https://dl.doubtnut.com/l/_PY5nDpiqcDjl


143. Simplify each of the following by

rationalising the denominator: 

Watch Video Solution

6 − 4√2

6 + 4√2

144. Simplify each of the following by

rationalising the denominator: 

Watch Video Solution

√7 − √5

√7 + √5

https://dl.doubtnut.com/l/_PY5nDpiqcDjl
https://dl.doubtnut.com/l/_DmOoAorzTOhx
https://dl.doubtnut.com/l/_cLBhfKjkeSk8


145. Simplify each of the following by

rationalising the denominator: 

Watch Video Solution

1

3√2 − 2√3

146. Simplify each of the following by

rationalising the denominator: 

Watch Video Solution

3√5 − √7

3√3 + √2

https://dl.doubtnut.com/l/_cLBhfKjkeSk8
https://dl.doubtnut.com/l/_o1rfQee5VgEA


147. Find the value of  upto three

decimal places. (take  and 

)

Watch Video Solution

√10 − √5

2√2

√2 = 1.414

√5 = 2.236

148. Find: 

Watch Video Solution

64
1
6

https://dl.doubtnut.com/l/_hmK3X1OCADEr
https://dl.doubtnut.com/l/_w603dvqHcnAV


149. Find: 

Watch Video Solution

32
1
5

150. Find: 

Watch Video Solution

625
1
4

https://dl.doubtnut.com/l/_JGgb8FXouqUu
https://dl.doubtnut.com/l/_nr3zGumVltGr


151. Find: 

Watch Video Solution

16
3
2

152. Find: 

Watch Video Solution

243
2
5

https://dl.doubtnut.com/l/_I0bnqPVoSNT1
https://dl.doubtnut.com/l/_DF1TUzMoqwhJ


153. Find: 

Watch Video Solution

(46656)
− 1
6

154. Simplify : 

Watch Video Solution

4√81 − 8 3√343 + 15 5√32 + √225

155. If 'a' and 'b' are rational numbers, find the

value of a and b in each of the following

https://dl.doubtnut.com/l/_9KIDBH4ukfGh
https://dl.doubtnut.com/l/_ibs5LHH9TNYE
https://dl.doubtnut.com/l/_PP4sUet92j1u


equations. 

Watch Video Solution

= a + b√6
√3 + √2

√3 − √2

156. If 'a' and 'b' are rational numbers, find the

value of a and b in each of the following

equations. 

Watch Video Solution

= a − b√15
√5 + √3

2√5 − 3√3

https://dl.doubtnut.com/l/_PP4sUet92j1u
https://dl.doubtnut.com/l/_XsgmTB1ucfE7


157. Find the square root of 

Watch Video Solution

11 + 2√30

158. What is meant by a rational number?

Watch Video Solution

159. What meant by an irrational number ?

Watch Video Solution

https://dl.doubtnut.com/l/_MQ7iqpCICgM8
https://dl.doubtnut.com/l/_R1m7ufKZ7prT
https://dl.doubtnut.com/l/_14dYoUrDhiLC


160. Find a rational number between 2 and 3

by mean method.

Watch Video Solution

161. Express  In decimal form.

Watch Video Solution

27
25

162. Express the following rational numbers in

decimal form. 

https://dl.doubtnut.com/l/_fTKH1K1zlY9Q
https://dl.doubtnut.com/l/_xxsEpHjfN7lG
https://dl.doubtnut.com/l/_yrXgXJJbay0V


Watch Video Solution

−
25

36

163. Express 8.625 in  form

Watch Video Solution

p

q

164. Express the following rational numbers in

decimal form. 

Watch Video Solution

11

9

https://dl.doubtnut.com/l/_yrXgXJJbay0V
https://dl.doubtnut.com/l/_M8Rsj4r3IlkX
https://dl.doubtnut.com/l/_SbIbBDhovKpR


165. Write any four rational numbers.

Watch Video Solution

166. Write any three Irrational numbers.

Watch Video Solution

167. Find an irrational number between 4 and

5.

https://dl.doubtnut.com/l/_SbIbBDhovKpR
https://dl.doubtnut.com/l/_GghXeqqpdMBu
https://dl.doubtnut.com/l/_GjSE49DFfGMH
https://dl.doubtnut.com/l/_OfrfoZSZpq1Q


Watch Video Solution

168. Examine whether  is a

rational or irrational number.

Watch Video Solution

(3 + √2)(3 − √2)

169. Examine, whether  is a rational or

irrational number.

Watch Video Solution

30

3√5

https://dl.doubtnut.com/l/_OfrfoZSZpq1Q
https://dl.doubtnut.com/l/_f2ssIBfyqIZn
https://dl.doubtnut.com/l/_rG5W1W0TP6uU
https://dl.doubtnut.com/l/_Tk4z1Pwqrcqp


170. Simplify the following expressions : 

Watch Video Solution

(√5 − √2)(√5 + √2)

171. Rationalise the denominators of the

following: 

Watch Video Solution

1

√7 − √6

https://dl.doubtnut.com/l/_Tk4z1Pwqrcqp
https://dl.doubtnut.com/l/_Ceu2FvGXY5FD


172. Find: 

Watch Video Solution

625
1
4

173. Find: 

Watch Video Solution

243
2
5

https://dl.doubtnut.com/l/_c9UpaA4LckcK
https://dl.doubtnut.com/l/_v4wR1cThNv27


174. Find two rational numbers between 5 and

6 by mean method.

Watch Video Solution

175. Express  in the  form where ,

p, q are integers.

Watch Video Solution

1. ¯̄̄¯46
p

q
q ≠ 0

https://dl.doubtnut.com/l/_jkIJpl2DMsK2
https://dl.doubtnut.com/l/_qOR3Uvnsc93M


176. Examine, whether the following

statements are rational or irrational:

Watch Video Solution

(√3 + 1)
2

177. Examine, whether the following

statements are rational or irrational:

Watch Video Solution

(5 + √2)(5 − √2)

https://dl.doubtnut.com/l/_koj7LS6RuUod
https://dl.doubtnut.com/l/_nw2Y2E8fJqjU
https://dl.doubtnut.com/l/_jXEZpk8YoGUi


178. Simplify: 

Watch Video Solution

4√256 − 3√125 + 5√32

179. Simplify: 

Watch Video Solution

√3 − √2

√3 + √2

180. Explain, how irrational nos. differ from

rational nos.? Give four examples each.

Watch Video Solution

https://dl.doubtnut.com/l/_jXEZpk8YoGUi
https://dl.doubtnut.com/l/_tQiNtDylin4I
https://dl.doubtnut.com/l/_gwvsljxvuAAi


181. Rationalise the denominator of 

Watch Video Solution

5

√3 + √2

182.  ,then find the value of 'x'.

Watch Video Solution

= 4
x2 − 1

x + 1

183. If x=2, y =1 is a solution of the equation

 , find the value of 'b'.2x + by = 5

https://dl.doubtnut.com/l/_gwvsljxvuAAi
https://dl.doubtnut.com/l/_zXi24N8wHWTJ
https://dl.doubtnut.com/l/_EB9B9oE14FGK
https://dl.doubtnut.com/l/_K5gymcAIXFik


Watch Video Solution

184. Write the formulae of area and volume of

different solid shapes. Find out the variables

and constants in them.

Watch Video Solution

185. What is the general form of the points

which lie on X-axis ? Write any four points lie

on X-axis.

https://dl.doubtnut.com/l/_K5gymcAIXFik
https://dl.doubtnut.com/l/_gDTfqcTfVcLl
https://dl.doubtnut.com/l/_Nk0uL5vGmObp


Watch Video Solution

186. The opposite angles of a parallelogram

are . 


Find the measure of each angle of the

parallelogram.

Watch Video Solution

(3x − 2) ∘ and (x + 48) ∘

187. Factorise , using

identity.

Watch Video Solution

8x3 + y3 + z3 − 6xyz

https://dl.doubtnut.com/l/_Nk0uL5vGmObp
https://dl.doubtnut.com/l/_1GLpZzNPRlWD
https://dl.doubtnut.com/l/_2UQoVHptd4tC


188. Locate  on the number line.

Watch Video Solution

√10

189. State the obscissa and ordinate of the

following points and describe the position of

each point P(5,6).

Watch Video Solution

https://dl.doubtnut.com/l/_2UQoVHptd4tC
https://dl.doubtnut.com/l/_xJ2tAeG0qLVv
https://dl.doubtnut.com/l/_WxE7DKP3oHcD


190. State the obscissa and ordinate of the

following points and describe the position of

each point Q(2,-5).

Watch Video Solution

191. Simplify : 

Watch Video Solution

3√625 − 4 3√343 − 5 4√81 + 6 5√32

https://dl.doubtnut.com/l/_iV1wBoHAzdyL
https://dl.doubtnut.com/l/_ddXi6bBC24yk


192. Show that the figure formed by joining

the midpoints of sides of a rhombus

successively is a rectangle.

Watch Video Solution

193. In the adjacent figure,

. Prove that : AB = BC and AC = CD

https://dl.doubtnut.com/l/_OLE6L4Eek2dU
https://dl.doubtnut.com/l/_ycQfOyKzGwel


 


Watch Video Solution

∠BAD : ∠ADB = 3: 1.

194. Visualise the representation of  on

the number line through successive

magnification upto 4 decimal places.

Watch Video Solution

4. ¯̄̄¯35

https://dl.doubtnut.com/l/_ycQfOyKzGwel
https://dl.doubtnut.com/l/_7u9Kl3mlZTLg


195. In a mixture of 28 litres, the ratio of milk

and water is  , set up the equation be

tween the mixture and milk. Draw its graph. By

observing the graph, find the quantity of milk

in the mixture.

Watch Video Solution

5: 2

196. If , show that 

Watch Video Solution

p2 + q2 + r2 = 0

p6 + q6 + r6 = 3p2q2r2

https://dl.doubtnut.com/l/_kqJbgffWTBov
https://dl.doubtnut.com/l/_tG4nsmpc3xhL


197. Plot the points 

and  in a graph sheet. Join all the

points to make it a trapezium. Find Its area.

Watch Video Solution

A(2, 2), B(9, 2), C(8, 5)

D(3, 5)

198. =

A. 

B. 

C. 

√5 + 2√6

3 + √2

√3 + √2

3 − √2

https://dl.doubtnut.com/l/_tG4nsmpc3xhL
https://dl.doubtnut.com/l/_LhNiQcpxEqF8
https://dl.doubtnut.com/l/_hxJf43HuZ3oh


D. 

Answer:

Watch Video Solution

√3 − √2

199. The coefficients of  and 'x' in the

product of (2x -8), (7- 3x) is _____

A. 2,-10

B. 6,10

C. 3,-20

‘x2’

https://dl.doubtnut.com/l/_hxJf43HuZ3oh
https://dl.doubtnut.com/l/_KJL0Xt3sz2h9


D. -6,38

Answer:

Watch Video Solution

200. Which of the following is not a solution

of the equation ?

A. (2,1)

B. (2,2)

C. (0,3)

x + 2y = 6

https://dl.doubtnut.com/l/_KJL0Xt3sz2h9
https://dl.doubtnut.com/l/_w8VonVp2JZj2


D. (6,0)

Answer:

Watch Video Solution

201. Diagonals are perpendicular in _____

A. Square, Rectangle

B. Rectangle, Parallelogram

C. Square, Rhombus

D. Trapezium, Rhombus

https://dl.doubtnut.com/l/_w8VonVp2JZj2
https://dl.doubtnut.com/l/_NLVAw09tNKbX


Answer:

Watch Video Solution

202. Equation of a line parallel to y-axis is ____

A. x=8

B. x=0

C. y=0

D. y=3

Answer:

https://dl.doubtnut.com/l/_NLVAw09tNKbX
https://dl.doubtnut.com/l/_jldDKAWHfacn


Watch Video Solution

203. In , which of the following is

incorrect ?

A. 

B. 

C. 

D. 

Answer:

ΔABC

AB + BC < AC

AB − AC > AC

BC + CA < AB

AB + BC > AC

https://dl.doubtnut.com/l/_jldDKAWHfacn
https://dl.doubtnut.com/l/_utYvnlxBHgb6


Watch Video Solution

204. Which of the following point does not lie

on the y-axis ?

A. (0,2)

B. (0,-3)

C. (-2,0)

D. (0,4)

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_utYvnlxBHgb6
https://dl.doubtnut.com/l/_eu25VpeNqxvZ


205. The remainder when  is

divided by (x-2).

A. 27

B. 22

C. 15

D. -15

Answer:

Watch Video Solution

2x3 − 3x + 5

https://dl.doubtnut.com/l/_eu25VpeNqxvZ
https://dl.doubtnut.com/l/_hyEfepdjYbdC


206. Which of the following is not true ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

( − 2, − 3) → Q3

(5, − 10) → Q1

( − 4, 5) → Q2

(2, − 6) → Q4

https://dl.doubtnut.com/l/_0xMJD9eU6s6Y


207.  = ____ .

A. 10000

B. 1000

C. 100

D. 10

Answer:

Watch Video Solution

1m2 cm2

https://dl.doubtnut.com/l/_y82GhvY5GvjF


208. A rational number equivalent to 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

−3

4

−4
3

−4
5

3

4

−6

8

https://dl.doubtnut.com/l/_VmfyfLjYGSJ7


209.  lies on ______ on the number line.

A. right side of the zero

B. left side of the zero

C. zero

D. can't be determined

Answer:

Watch Video Solution

−2

3

https://dl.doubtnut.com/l/_XDDsu7wJIu0e


210. Which of the following is false?

A. Every rational number is a natural

number

B. Every rational number is a whole number

C. Every rational number is an integer

D. Every integer is a rational number

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_0SUwLOaNN9TB
https://dl.doubtnut.com/l/_lN2U5CVm5e2X


211. A rational number between 5 and 6 is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

9

2

10

2

11

2

12

2

212.  =0. 3̄

https://dl.doubtnut.com/l/_lN2U5CVm5e2X
https://dl.doubtnut.com/l/_HZlBzC0wu6qK


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

3

8

2

9

3

7

1

3

213. The decimal form of 1/18 is

A. 0.05̄

https://dl.doubtnut.com/l/_HZlBzC0wu6qK
https://dl.doubtnut.com/l/_Hrw4M8W1c7lo


B. 

C. 

D. 0.06

Answer:

Watch Video Solution

0. ¯̄̄¯05

0. 5̄

214. 1.25 in p/q form

A. 

B. 

4
5

5

4

https://dl.doubtnut.com/l/_Hrw4M8W1c7lo
https://dl.doubtnut.com/l/_mySl0xwipTgY


C. 

D. 

Answer:

Watch Video Solution

5

6

6

5

215. If a and b are any two rational numbers

then a rational number between a and b is

A. a+1

B. b-1

https://dl.doubtnut.com/l/_mySl0xwipTgY
https://dl.doubtnut.com/l/_wnaex1IL7PcT


C. 

D. 

Answer:

Watch Video Solution

a + b

2

a ⋅ b

216. If n is a natural number other than a

perfect square then  is ____ number.

A. rational

B. irrational

√n

https://dl.doubtnut.com/l/_wnaex1IL7PcT
https://dl.doubtnut.com/l/_ti8ailom0gnj


C. natural

D. none

Answer:

Watch Video Solution

217. If 'x' is an irrational number then x + 2 is

_____ number.

A. natural

B. rational

https://dl.doubtnut.com/l/_ti8ailom0gnj
https://dl.doubtnut.com/l/_t3P2QZVJvNlb


C. irrational

D. can't be determined

Answer:

Watch Video Solution

218. If 'x' is an irrational number then x - 3 is

_____ number.

A. rational

B. natural

https://dl.doubtnut.com/l/_t3P2QZVJvNlb
https://dl.doubtnut.com/l/_SP0nyvWpEIfi


C. irrational

D. Complex

Answer:

Watch Video Solution

219. Number which can't be expressed in p/q

form are ______ numbers.

A. irrational

B. rational

https://dl.doubtnut.com/l/_SP0nyvWpEIfi
https://dl.doubtnut.com/l/_BBxO1Z6n3Q9Z


C. whole

D. natural

Answer:

Watch Video Solution

220. The combination of Q and S given the set

of _____ numbers.

A. natural

B. integers

https://dl.doubtnut.com/l/_BBxO1Z6n3Q9Z
https://dl.doubtnut.com/l/_FakIZ4XNkmHK


C. whole

D. real

Answer:

Watch Video Solution

221.  is a _____ number.

A. irrational

B. rational

C. can't be determined

(2 + √2)(2 − √2)

https://dl.doubtnut.com/l/_FakIZ4XNkmHK
https://dl.doubtnut.com/l/_LBKWieD9fQkk


D. none

Answer:

Watch Video Solution

222.  =

A. 

B. 

C. 

D. 

√
a

b

√a

b

a

√b

√a

√b

a

b

https://dl.doubtnut.com/l/_LBKWieD9fQkk
https://dl.doubtnut.com/l/_x44XugzSEJty


Answer:

Watch Video Solution

223.  =

A. 

B. a-b

C. 

D. 

Answer:

(√a + b)(√a − b)

a2 − b2

a2 − b

a − b2

https://dl.doubtnut.com/l/_x44XugzSEJty
https://dl.doubtnut.com/l/_o8aSZoyQ52H3


Watch Video Solution

224.  =

A. 10

B. 

C. 

D. 

Answer:

Watch Video Solution

(√2 + √5)
2

7 + 2√10

7 − 2√10

2√10

https://dl.doubtnut.com/l/_o8aSZoyQ52H3
https://dl.doubtnut.com/l/_JQ2Mhs71a9Jv


225.  =

A. 45

B. 5

C. 3

D. 47

Answer:

Watch Video Solution

(7 + √2)(7 − √2)

https://dl.doubtnut.com/l/_JQ2Mhs71a9Jv
https://dl.doubtnut.com/l/_hmma1C1VITy4


226. The rationalising factor of  is

A. 

B. 

C. 

D. 5

Answer:

Watch Video Solution

1

5√2

1

5√2

5√2

√2

https://dl.doubtnut.com/l/_9Z7IHvwHwudV


227. The rationalising factor of  is

A. 

B. 

C. 

D. 3

Answer:

Watch Video Solution

1

√27

1

√27

√27

√3

https://dl.doubtnut.com/l/_Jbv34cC9F6bi


228.  = ________

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

( )
− 3

× ( )
3

× ( )
6

3

4

3

4

3

4

( )
− 54

3

4

( )
63

4

( )
12

3

4

( )
− 63

4

https://dl.doubtnut.com/l/_aXMtgZsaf87Y


229.  =

A. 

B. 2

C. 

D. 

Answer:

Watch Video Solution

5√32

325

4√2

2√2

https://dl.doubtnut.com/l/_T4a5nwzFqpgc


230.  =

A. 2

B. 4

C. 8

D. 

Answer:

Watch Video Solution

(128)1 / 7

8√2

https://dl.doubtnut.com/l/_vJRHYVkrQDct


231. Radical form of  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

271 / 5

√27

3√27

4√27

5√27

https://dl.doubtnut.com/l/_nMrexWnjPj7C


232. =

A. 

B. a/n

C. na

D. n+a

Answer:

Watch Video Solution

a
1
n

n√a

https://dl.doubtnut.com/l/_Lm62RBQd81sP


233. The Rationalising factor of  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1

5 − √3

(5 + √3)

√3 − 5

1

5 + √3

1

√3 − 5

https://dl.doubtnut.com/l/_HoAUE33VoHFr


234. =

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

n√am

am/ n

an / m

amn

am− n

https://dl.doubtnut.com/l/_RqogC0Nm9csH


235. If  , then x is

A. a rational number

B. an irrational number

C. a perfect number

D. an even number

Answer:

Watch Video Solution

x3 = 10

https://dl.doubtnut.com/l/_SUlpuEpEJ1Y3


236. If  , then p is

A. an odd number

B. an irrational number

C. a perfect number

D. a rational number

Answer:

Watch Video Solution

p3 = 216

https://dl.doubtnut.com/l/_P99CXNMOZH20


237. The radical form of 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

152 / 3

3√30

3√15

3√225

3√45

https://dl.doubtnut.com/l/_HDtFnSREtukE


238. The radical form of 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

62 / 3

3√36

√36

√48

√216

https://dl.doubtnut.com/l/_6pVhtLv3ZA3A


239. The exponential form of  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

4√81

91 / 4

92 / 4

31 / 4

31 / 8

https://dl.doubtnut.com/l/_48POmizioApE


240. The exponential form of  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

35√105

31 / 35

51 / 35

71 / 35

1051 / 35

https://dl.doubtnut.com/l/_4BMb755sS7Cb


241.  =

A. 

B. 

C. a-b

D. 

Answer:

Watch Video Solution

(√a + b)(√a − b)

a2 − b2

a − b2

a + b2

https://dl.doubtnut.com/l/_feYwpBIX69ww


242. =

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(√x + y)
2

x + y + 2√xy

√x + y2 + 2xy

x + y2 + 2√x ⋅ y

x2 + y2 + 2√x ⋅ y

https://dl.doubtnut.com/l/_LV1wxrX9PyHt


243.  =

A. 1

B. 0

C. 5

D. 13

Answer:

Watch Video Solution

(√3 + √2)(√3 − √2)

https://dl.doubtnut.com/l/_pTLJdMV0IEhO


244. =

A. 0

B. -8

C. 1

D. -512

Answer:

Watch Video Solution

( − 8)7 / 5 × ( − 8) − 4 / 5 × ( − 8) − 3 / 5

https://dl.doubtnut.com/l/_357aUF3u8mCN


245. The decimal form of  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

0. ¯̄̄¯32

32

100

32

99

32

90

32

50

https://dl.doubtnut.com/l/_xMqX8jrJxxLj


246.  =

A. 

B. 

C. 12

D. 144

Answer:

Watch Video Solution

√9 × √16

√25

3

4

https://dl.doubtnut.com/l/_NDd49rVBU0fO


247. =

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

√a ÷ √b

√ab

a√b

√ab

√
a

b

https://dl.doubtnut.com/l/_Nvs8dH8sgJ7A


248.  =

A. 1

B. 

C. 0

D. 

Answer:

Watch Video Solution

( )
2 / 7

× ( )
5 / 7−2

3

−2

3

−2

3

( )
2 / 5−2

3

https://dl.doubtnut.com/l/_UMh2emJNaml7


249. If  , then  =

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

√3 = 1.732 √27

3 × 1.732

9 × 1.732

27 × 1.732

6 × 1.732

https://dl.doubtnut.com/l/_wVuvNyVqbtLP


250. Whose value is 11.18 if  ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

√5 = 2.236

√25

√75

√125

√250

https://dl.doubtnut.com/l/_ktSTYZdJcSkB


251. The decimal value of  is

A. 3.421

B. 3.142

C. 3.412

D. 3.124

Answer:

Watch Video Solution

22

7

https://dl.doubtnut.com/l/_qv6A8hywsVmU


252. If  , then =

A. 6.324

B. 9.486

C. 12.648

D. 31.62

Answer:

Watch Video Solution

√10 = 3.162 √40

https://dl.doubtnut.com/l/_gX3rrCOAAqSW


253. =

A. 2

B. 4

C. 6

D. 

Answer:

Watch Video Solution

5√32
− 2

1/2

https://dl.doubtnut.com/l/_I6chfnuI1zOH


254. Rationalising factor of  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

√5 + √6

√5 − 6

5 − √6

√5 − √6

5 + √6

https://dl.doubtnut.com/l/_3g49hd2w58Mj


255. Express 3.25 in the form of 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

p/q

13

4

65

2

13

40

13

20

https://dl.doubtnut.com/l/_yIxmRm8OX8Sj


256. If  , then =

A. n

B. a

C. 

D. 

Answer:

Watch Video Solution

an = b n√b

b1 / n

a1 / n

https://dl.doubtnut.com/l/_JFPLjTplzv7k


257.  =

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

31 / 5

31 / 3

31 / 15

32 / 15

3− 2 / 15

38 / 15

https://dl.doubtnut.com/l/_nchr8ZLkJMqd


258. The collection of negative numbers and

whole numbers is denoted by

A. Q

B. W

C. Z or I

D. N

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_G0yirkuMiILO
https://dl.doubtnut.com/l/_GuuCLgkRBhJh


259. If a and b are any two rational numbers

then a rational number between a and b is

A. a-b

B. b-a

C. 

D. 

Answer:

Watch Video Solution

√ab

a + b

2

https://dl.doubtnut.com/l/_GuuCLgkRBhJh


260.  =

A. 

B. 0.66

C. 0.666

D. 0.6

Answer:

Watch Video Solution

2

3

0. 6̄

https://dl.doubtnut.com/l/_gVj8pG8gCWnw


261. The decimal value of  is

A. 0.5

B. 0.25

C. 0.125

D. 1.125

Answer:

Watch Video Solution

1

23

https://dl.doubtnut.com/l/_HtR8NaaBhRXY


262.  is

A. a natural number

B. an irrational number

C. a rational number

D. none of these

Answer:

Watch Video Solution

π

https://dl.doubtnut.com/l/_1mOWNl9cTswU


263. Find the area of rectangle whose length is

4.7 an and breadth is 2 cm.

A. 

B. 

C. 

D. lb

Answer:

Watch Video Solution

√3 − 1

(√3 + √2)

(√3 − √2)

https://dl.doubtnut.com/l/_MJwPyJR04e8T
https://dl.doubtnut.com/l/_SOVfzpJq4yrR


264.  lies between

A. 1 and 2

B. 2 and 3

C. 3 and 4

D. 0 and 1

Answer:

Watch Video Solution

√5

https://dl.doubtnut.com/l/_SOVfzpJq4yrR


265. A Rectangular park dimensions are

 and units then the area of

that park in square unit.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(3 + √2) (2 + √2)

8 + 5√2

5 + 2√2

13√2

5 + √2

https://dl.doubtnut.com/l/_t8v3o6q7n9Fg


266. The value of 1.999____ in the form of  ( p,

q are integers,  )

A. 

B. 2

C. 

D. 

Answer:

Watch Video Solution

p

q

q ≠ 0

1999

1000

1

9

19

10

https://dl.doubtnut.com/l/_n1YHoku6sYzS
https://dl.doubtnut.com/l/_8Qcrm5omQGEe


267. If 'x' is a positive real number and 

then the value of  is

A. 

B. 

C. 4

D. 1,2,4,3

Answer:

Watch Video Solution

x2 = 2

x3

2√2

3√2

https://dl.doubtnut.com/l/_8Qcrm5omQGEe


268. If  , then the value of  is

A. 31.62

B. 3.162

C. 0.3162

D. 316.2

Answer:

Watch Video Solution

√10 = 3.162
1

√10

https://dl.doubtnut.com/l/_JvHDLxYNpbSG


269. If x=  then the value of x+y is

A. 5

B. 

C. 10

D. 

Answer:

Watch Video Solution

√3 + √2

√3 − √2

5 + 2√6

5 − 2√6

https://dl.doubtnut.com/l/_gcz7pxRBfXoe

